_TI:_@-Z,:f(x):Qx—{-l,g(x):—Sx-i-Qg’ = ROCR =

2331717

@)y =-6x-1 @ y=—6x ® y=—6x+1
@ y=-6x+3 ® y=-6x+5

(go f)(x) = g(f(x)) =g(2x+1) = -3(2x+1) +2 = —6x - 1
olct,




2. Al 5 f(x) = 5x -3, g(x) = -2x2, h(x) = |x + 5[°] A5t
(hogo f£)(1) 2 3t2?

D1 @)3 ® 4 @ 5 ® 7

(80 f)(1) =g(f(1) =g(2) =-8 °|B=
(hogo f)(1) °




3. T4 () = ar+ b g(x) =
451 19 BRFRZAL DA
@azlE—‘Eb:c @ a=1
@ b=c @ a=
® a=0

(feog)x) = f(g(x) = flax+c)

=alax+c)+b

=a’x+ac+b
oA 2 (go f)(x) = a’x +ab + ¢
sac+b=ab+c

=, (a-1)(b-¢)=0
La=1E=p=c¢




4. 5 FTFFEx+1) = v+ 28 AEG T, £(3) 9] FHS TFHhE?

® 1 @ 2 ® 3 @1 @)

f2x+1)=3x+2°A 2x+1=3°|E=&
x=1+< tiYstH
f@2-14+41)=f3)=3-1+2=5




001 bl 5ol A ATE F B f(x) =1 1, g(x) = 1~ x

diskeld h(x) = f(g(x) 2 & W, h(x) = 15,5 ¥
o] & F3HAY

@® 95 @ 97 3 99 @ —97

1-x
— —-X . X
T 1-x x-1
99
hx) = 105 1A
X 99
x—1 m




Q]
=

A AL X ={123), Y ={a b c}, Z= {4, 5 6} t5}]
WL AHED D+ f : X >Yeyg : Y- Z7tf(1) = a, g(c)
6, (g-f)(2) =45 =S 0, £(3) 9] g7
XL >y—E >7
1 a 4
2 b 5
3 c 6
@D a @ b
©F @ b, B5F 7P
® a,b,c BF 7155t
(8o f)(2) =g(f(2))=4--
5 f g = A tHSolBER g(f(2) = 4°0A f(2) =a
35
i) f(2) =aQl A%
Q) = a2 Ao)H 2AT} B
i) £(2) =52 AL
f)=a, f(2)=bE 4H
o f@2)=b, f(3) =c




= x+a gx)=x*-19 df, B A4 xof thstod
(fog)(x)=(go f)(x)7t AT A4 a2 = S

@o @-1 B®-2 @1 ® 4

gof=fogolA
(x+a)’-1=x2-1+a,

24+ 2ax4+a’-1=x*-1+a
Z2ax+a’-a=0

HE A xol s dEsted a=0




=7 4

g(f(x)) =x°IA f(x) =12 F2H

1—; =tofA (1-x)t=1,t-xt=1

t—1 r—1
xt=t-1, x=— O|BR g(f) = —

t




5 f(x) =3x-1, g(x) =4-3x o 5t ho f = g & T=Fot=

—

D hix) = %(x—i— 1) @ h(x) = 3x—1
® h(x)=x-3 @)h(x) =3 -x
® h(x)=x+3

(ho f)(x) =4 - 3x°l|A
fx)=t2FstHr=3x-1, 3x=1t+1
= 2(+1) & et
h(t):4—3><%(t+1)=3—t
soh(x)=3-x




10.

sok(x) =

—x+3 4, kog=nh

@k(x) = -x+3

kog=hOlBR (kog)of=hof
ko(gof)=hof
kol=ho f( - gof=1I I'=353)

sk=hof(-kol=I0k=k)
(hof)(x) = -x+3




@h(x) = %x—&-l @ h(x) = §x+%
® hx)=xty ® hx) = 1x+ 2
® h(x):§x+1

fx)=x+1,g(x)=3x-2%
(goh) (x) = f(x) & WSHsloF S22
(goh) (x) = g (h(x)) = 3h(x) -2
3h(x)—2=x+1,3h(x)=x+3

Sh(x) = %x—i—l




12, ohe 283} Zo] 34 f(x) = x* —5x2 4+ 8x—2 oA f(k) =14 ),
R GFZUE, fP=Ffof, fP=fof, fr=f""0of)

-2
O 1 )2 ® 3 @ 5 ® 11
flk) =1

f2(k) = f(f(k)) = f(1)
fPk) = f? o fk) = f2(f(k )) (1)
=f(f() =f(2)=2

Fo =2




(

A o] Al Aol g4 f
) - ofoo)e )(x& A% B g, £2007(1) o] B2
enno) f A% n o)

(
A

@® 2007

(x) = x + 2 °f| Hi5}d

@ 2008 ® 2009 @4015 ® 4016

fx)=x+2

PER) =N =fFx)=(x+2)+2=x+4
) =(for)(x)=ff2x)=(x+4) +2=x+6
A =(forf?)x)=r(f2(x)=(x+6)+2=x+8
.f”(x) =x+2n

5 f2007(1) = 1+ 2% 2007 = 4015




14.

R={xj0<x<1jolgt & o, ROIA RES] by = f(x) o] 17}
o 2" Zoh(E, f1(x) = (fofo.of)(x): f 7N n7H)

(L =z
Yy
()
1-—1——r——|—f—
3
4 l I !
1 I I !
2 7/ A
l_ 1\l !
4 | I 1
! N
o 1 1 3 17
4 2 4




(o]
3
L
Y
<

Il
~

A

/N

of I2 \37:
/ y=f(2)

@ ¢lth @ 171 @)2 7i @ 3 7Y ® 4 7

] (x)©] T mo} he 2T 7S o, FHA (fo
f)(x) = 1—0’] ']E E]‘—E— /5—11:13‘91 7HZI\‘E‘(7

St
0<a<2<poltt.
ol o}, f(x) = « & &St x 9 G2 27002

f(x) =g & W=5she 22 o

a I2 ,8 \x‘
y=f(z)

w2hA, (f o £)(x) = 12 W&k x 9] 312 27l

Or—‘lwﬁ




